

Available online at http://scik.org J. Math. Comput. Sci. 11 (2021), No. 4, 4129-4138 https://doi.org/10.28919/jmcs/5745 ISSN: 1927-5307

ON THE GENERALIZED k-FIBONACCI AND k-LUCAS NUMBERS

MARINEE MAYUSOH¹, NORHAYATEE CHEBERAHENG¹, RONNASON CHINRAM², PATTARAWAN PETCHKAEW^{1,*}

¹Mathematics Program, Faculty of Science and Technology, Songkhla Rajabhat University, Songkhla 90000.

Thailand

²Algebra and Applications Research Unit, Division of Computational Science, Faculty of Science, Prince of Songkla University, Hat Yai, Songkhla 90110, Thailand

Copyright © 2021 the author(s). This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. In this paper, we give some new identities for a family of Fibonacci and Lucas numbers. We investigate the relationships among Fibonacci, Lucas, generalized *k*-Fibonacci, and generalized *k*-Lucas numbers and we also prove some properties of those numbers.

Keywords: Fibonacci number; Lucas number; generalized *k*-Fibonacci number; generalized *k*-Lucas number. **2010 AMS Subject Classification:** 11B39.

1. INTRODUCTION

Fibonacci sequences are one of the most well-known sequences in mathematics which is applied in other fields such as computer science, physics, biology, and statistics. The application of Fibonacci sequences in group theories was studied by C. M. Campbell, P. P. Campbell, and Ö. Deveci, see in ([2], [3], [4]). Fibonacci and Lucas numbers have many applications to various fields of mathematics and science, see in [8]. Because the structure of the Lucas sequence

^{*}Corresponding author

E-mail address: pattarawan.pe@gmail.com

Received March 21, 2021

4130 M. MAYUSOH, N. CHEBERAHENG, R. CHINRAM, P. PETCHKAEW

is similar to that of the Fibonacci sequences, so it can be seen that there are several studies looking at both of them in the same manners. The generalized Fibonacci and Lucas sequences were investigated by many researchers, see in ([1], [5], [6], [7], [9], [12], [13], [14]). One of the interesting research of generalized Fibonacci and Lucas numbers is generalized k-Fibonacci and generalized k-Lucas numbers which can be seen in [10], [11], and [15].

In this paper, we give some new identities of generalized *k*-Fibonacci and generalized *k*-Lucas numbers. We investigate the relationships among Fibonacci, Lucas, generalized *k*-Fibonacci, and generalized *k*-Lucas numbers, especially in the case of k = 3.

2. PRELIMINARIES

It is well known that the Fibonacci number F_n is a term of the sequence 1,1,2,3,5,8,13,.... The Fibonacci number F_n satisfies the second order linear recurrence relation

$$F_n = F_{n-1} + F_{n-2}, \quad n = 2, 3, 4, \dots$$

with the initial values $F_0 = 1$, $F_1 = 1$. It is well known that the Fibonacci numbers are defined by Binet's formula

$$F_n = \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha - \beta} = \frac{1}{\sqrt{5}} (\alpha^{n+1} - \beta^{n+1}), \quad n = 0, 1, 2, \dots$$

where α and β are the root of the quadratic equation $x^2 - x - 1 = 0$, so $\alpha = \frac{1+\sqrt{5}}{2}$ and $\beta = \frac{1-\sqrt{5}}{2}$.

The Lucas number L_n satisfies the second order linear recurrence relation

$$L_n = L_{n-1} + L_{n-2}, \quad n = 2, 3, 4, \dots$$

with the initial values $L_0 = 2$, $L_1 = 1$. Then the Lucas number L_n is a term of the sequence 2,1,3,4,7,11,18,.... The Binet's formula for the Lucas numbers is

$$L_n = \alpha^n + \beta^n, \quad n = 0, 1, 2, \dots$$

where $\alpha = \frac{1+\sqrt{5}}{2}$ and $\beta = \frac{1-\sqrt{5}}{2}$. The Fibonacci numbers and the Lucas numbers are related by

$$L_n = F_n + F_{n-2} = \frac{F_{2n-1}}{F_{n-1}}$$

In 2010, Mikkawy and Sogabe [16] gave the definition of generalized *k*-Fibonacci numbers as follows.

Definition 2.1. [16] Let *n* and $k \ne 0$ be natural numbers, then there exist unique numbers *m* and *n* such that $n = mk + r(0 \le r < k)$. The generalized *k*-Fibonacci number $F_n^{(k)}$ is defined by

$$F_n^{(k)} = \frac{1}{(\sqrt{5})^k} (\alpha^{m+2} - \beta^{m+2})^r (\alpha^{m+1} - \beta^{m+1})^{k-r}, \quad n = mk + r$$

where $\alpha = (1 + \sqrt{5})/2$ and $\beta = (1 - \sqrt{5})/2$.

The generalized k-Fibonacci and Fibonacci numbers are related by

$$F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$$
, $n = mk + r$.

From Definition 2.1, we have that the generalized 1-Fibonacci number $F_n^{(1)}$ is just the ordinary Fibonacci number F_n because the sequence $\{F_n^{(1)}\} = \{1, 1, 2, 3, 5, 8, 13, 21, 34, 55, ...\}$. The first few numbers of the generalized *k*-Fibonacci numbers for k = 2, 3 are as follows:

$$\{F_n^{(2)}\}_{n=0}^{10} = \{1, 1, 1, 2, 4, 6, 9, 15, 25, 40, 64\}$$

$$\{F_n^{(3)}\}_{n=0}^{10} = \{1, 1, 1, 1, 2, 4, 8, 12, 18, 27, 45\}.$$

In 2017, Özkan, Altun, and Göcer [10] introduced the definition of the generalized *k*-Lucas numbers as follows.

Definition 2.2. [10] Let *n* and $k \ne 0$ be natural numbers, then there exist unique numbers *m* and *n* such that $n = mk + r (0 \le r < k)$. The generalized *k*-Lucas number $L_n^{(k)}$ is defined by

$$L_n^{(k)} = (\alpha^{m+1} + \beta^{m+1})^r (\alpha^m + \beta^m)^{k-r}, \ n = mk + n$$

where $\alpha = (1 + \sqrt{5})/2$ and $\beta = (1 - \sqrt{5})/2$.

From Definition 2.2, the generalized k-Lucas and Lucas numbers are related by

$$L_n^{(k)} = (L_m)^{k-r} (L_{m+1})^r, \quad n = mk + r.$$

In the same manner as a case of the generalized k-Fibonacci numbers, the generalized 1-Lucas number $L_n^{(1)}$ is just the ordinary Lucas number L_n because $\{L_n^{(1)}\} = \{2, 1, 3, 4, 7, 11, 18, 29, 47, 76, ...\}$. The first few numbers of generalized k-Lucas numbers $L_n^{(k)}$ for k = 2, 3 are as follows:

$$\{L_n^{(2)}\}_{n=0}^{10} = \{4, 2, 1, 3, 9, 12, 16, 28, 49, 77, 121\}$$
$$\{L_n^{(3)}\}_{n=0}^{10} = \{8, 4, 2, 1, 3, 9, 27, 36, 48, 64, 112\}.$$

3. MAIN RESULTS

In this section, we investigate the relationships among Fibonacci, Lucas, generalized *k*-Fibonacci, and generalized *k*-Lucas numbers, especially in the case of k = 3.

4131

We start with the relations on the generalized k-Fibonacci numbers

Theorem 3.1. Let n be a positive integer. The generalized 3-Fibonacci numbers satisfy

$$F_{3n}^{(3)} = F_{3n+1}^{(3)} - F_{3n-1}^{(3)}$$

Proof. We have $F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$ for $n = mk + r(0 \le r < k)$. Consider

$$F_{3n}^{(3)} = (F_n)^3$$

= $(F_n)^2 (F_{n+1} - F_{n-1})$
= $(F_n)^2 F_{n+1} - F_{n-1} (F_n)^2$
= $F_{3n+1}^{(3)} - F_{3n-1}^{(3)}$.

	1	

Theorem 3.2. Let *n* be a positive integer. The generalized 3-Fibonacci numbers satisfy

$$F_{3n+3}^{(3)} = F_{3n+2}^{(3)} + F_{3n-1}^{(3)} + 2F_{3n-2}^{(3)} + F_{3n-3}^{(3)}.$$

Proof. Since $F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$ for $n = mk + r(0 \le r < k)$. We obtain $F_{3n+3}^{(3)} - F_{3n-3}^{(3)} = F_{3(n+1)}^{(3)} - F_{3(n-1)}^{(3)} = (F_{n+1})^3 - (F_{n-1})^3$. This implies that $F_{3n+3}^{(3)} = (F_{n+1})^3 - (F_{n-1})^3 + F_{3n-3}^{(3)}$. Consider

$$F_{3n+3}^{(3)} = (F_{n+1})^3 - (F_{n-1})^3 + F_{3n-3}^{(3)}$$

$$= (F_{n+1} - F_{n-1})((F_{n+1})^2 + F_{n+1}F_{n-1} + (F_{n-1})^2) + F_{3n-3}^{(3)}$$

$$= F_n((F_{n+1})^2 + F_{n+1}F_{n-1} + (F_{n-1})^2) + F_{3n-3}^{(3)}$$

$$= F_n(F_{n+1})^2 + F_nF_{n-1}F_{n+1} + (F_{n-1})^2F_n + F_{3n-3}^{(3)}$$

$$= F_{3n+2}^{(3)} + F_nF_{n-1}(F_n + F_{n-1}) + F_{3(n-1)+1}^{(3)} + F_{3n-3}^{(3)}$$

$$= F_{3n+2}^{(3)} + F_{n-1}(F_n)^2 + (F_{n-1})^2F_n + F_{3n-3}^{(3)} + F_{3n-3}^{(3)}$$

$$= F_{3n+2}^{(3)} + F_{n-1}(F_n)^2 + (F_{n-1})^2F_n + F_{3n-3}^{(3)} + F_{3n-3}^{(3)}$$

 $= F_{3n+2}^{(3)} + F_{3n-1}^{(3)} + 2F_{3n-2}^{(3)} + F_{3n-3}^{(3)}.$

4132

Theorem 3.3. Let *n* be a positive integer. The generalized 3-Fibonacci numbers satisfy

$$F_{3n+3}^{(3)} = F_{3n}^{(3)} + 3F_{3n-1}^{(3)} + 3F_{3n-2}^{(3)} + F_{3n-3}^{(3)}$$

Proof. Since $F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$ for $n = mk + r(0 \le r < k)$, we obtain

$$F_{3n+3}^{(3)} = (F_{n+1})^3$$

= $(F_n + F_{n-1})^3$
= $(F_n)^3 + 3F_{n-1}(F_n)^2 + 3(F_{n-1})^2F_n + (F_{n-1})^3$
= $F_{3n}^{(3)} + 3F_{3n-1}^{(3)} + 3F_{3n-2}^{(3)} + F_{3n-3}^{(3)}$.

In the next results, we are focused on the generalized 3-Lucas numbers.

Theorem 3.4. Let *n* be a positive integer. The generalized 3-Lucas numbers satisfy

$$L_{3n}^{(3)} = L_{3n+1}^{(3)} - L_{3n-1}^{(3)}$$

Proof. We have $L_n^{(k)} = (L_m)^{k-r} (L_{m+1})^r$ for $n = mk + r(0 \le r < k)$. Then

$$L_{3n}^{(3)} = (L_n)^3$$

= $(L_n)^2 (L_{n+1} - L_{n-1})$
= $(L_n)^2 L_{n+1} - L_{n-1} (L_n)^2$
= $L_{3n+1}^{(3)} - L_{3n-1}^{(3)}$.

Theorem 3.5. Let *n* be a positive integer. The generalized 3-Lucas numbers satisfy

$$L_{3n+3}^{(3)} = L_{3n+2}^{(3)} + L_{3n-1}^{(3)} + 2L_{3n-2}^{(3)} + L_{3n-3}^{(3)}.$$

Proof. Since $L_n^{(k)} = (L_m)^{k-r} (L_{m+1})^r$ for $n = mk + r(0 \le r < k)$, we have $L_{3n+3}^{(3)} - L_{3n-3}^{(3)} = L_{3(n+1)}^{(3)} - L_{3(n-1)}^{(3)} = (L_{n+1})^3 - (L_{n-1})^3 + L_{3n-3}^{(3)}$.

Consider

$$\begin{split} L_{3n+3}^{(3)} &= (L_{n+1})^3 - (L_{n-1})^3 + L_{3n-3}^{(3)} \\ &= (L_{n+1} - L_{n-1})((L_{n+1})^2 + L_{n+1}L_{n-1} + (L_{n-1})^2) + L_{3n-3}^{(3)} \\ &= L_n((L_{n+1})^2 + L_{n-1}L_{n+1} + (L_{n-1})^2) + L_{3n-3}^{(3)} \\ &= (L_n)(L_{n+1})^2 + L_nL_{n-1}L_{n+1} + (L_{n-1})^2(L_n) + L_{3n-3}^{(3)} \\ &= L_{3n+2}^{(3)} + L_nL_{n-1}(L_n + L_{n-1}) + L_{3(n-1)+1}^{(3)} + L_{3n-3}^{(3)} \\ &= L_{3n+2}^{(3)} + L_{n-1}(L_n)^2 + (L_{n-1})^2L_n + L_{3n-2}^{(3)} + L_{3n-3}^{(3)} \\ &= L_{3n+2}^{(3)} + L_{3n-1}^{(3)} + L_{3n-2}^{(3)} + L_{3n-3}^{(3)} \\ &= L_{3n+2}^{(3)} + L_{3n-1}^{(3)} + L_{3n-2}^{(3)} + L_{3n-3}^{(3)} \\ &= L_{3n+2}^{(3)} + L_{3n-1}^{(3)} + 2L_{3n-2}^{(3)} + L_{3n-3}^{(3)}. \end{split}$$

Theorem 3.6. Let *n* be a positive integer. The generalized 3-Lucas numbers satisfy

$$L_{3n+3}^{(3)} = L_{3n}^{(3)} + 3L_{3n-1}^{(3)} + 3L_{3n-2}^{(3)} + L_{3n-3}^{(3)}.$$

Proof. Since $L_n^{(k)} = (L_m)^{k-r} (L_{m+1})^r$ for $n = mk + r(0 \le r < k)$, we obtain

$$L_{3n+3}^{(3)} = (L_{n+1})^3$$

= $(L_n + L_{n-1})^3$
= $(L_n)^3 + 3L_{n-1}(L_n)^2 + 3(L_{n-1})^2L_n + (L_{n-1})^3$
= $L_{3n}^{(3)} + 3L_{3n-1}^{(3)} + 3L_{3n-2}^{(3)} + L_{3n-3}^{(3)}$.

Finally, we provide some relations among Fibonacci, Lucas, generalized 3-Fibonacci, and generalized 3-Lucas numbers.

Theorem 3.7. Let *n* be a positive integer. Then

$$(L_n + F_n)^3 = 27F_{3n}^{(3)} - 27F_{3n-1}^{(3)} + 9F_{3n-2}^{(3)} - F_{3n-3}^{(3)}.$$

Proof. We have $F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$ for $n = mk + r(0 \le r < k)$. By the identity $L_n = F_n + F_{n-2}$, we obtain

$$(L_n + F_n)^3 = (F_n + F_{n-2} + F_n)^3$$

= $(F_n + F_n - F_{n-1} + F_n)^3$
= $(3F_n - F_{n-1})^3$
= $(3F_n)^3 - 3(3F_n)^2F_{n-1} + 3(3F_n)(F_{n-1})^2 - (F_{n-1})^3$
= $27(F_n)^3 - 27F_{n-1}(F_n)^2 + 9(F_{n-1})^2F_n - (F_{n-1})^3$
= $27F_{3n}^{(3)} - 27F_{3n-1}^{(3)} + 9F_{3n-2}^{(3)} - F_{3n-3}^{(3)}$.

Theorem 3.8. Let *n* be a positive integer. Then

$$L_{3n}^{(3)} - F_{3n}^{(3)} = F_{3n-6}^{(3)} + 3F_{n-2}F_nL_n.$$

Proof. Since $F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$ for $n = mk + r(0 \le r < k)$, by the identity $L_n = F_n + F_{n-2}$, we obtain

$$L_{3n}^{(3)} - F_{3n}^{(3)} = (L_n)^3 - (F_n)^3$$

= $(F_n + F_{n-2})^3 - (F_n)^3$
= $(F_n)^3 + 3(F_n)^2 F_{n-2} + 3F_n(F_{n-2})^2 + (F_{n-2})^3 - (F_n)^3$
= $3F_{n-2}(F_n)^2 + 3(F_{n-2})^2 F_n + (F_{n-2})^3$
= $3F_{n-2}F_n(F_n + F_{n-2}) + F_{3n-6}^{(3)}$
= $F_{3n-6}^{(3)} + 3F_{n-2}F_nL_n.$

Theorem 3.9. Let *n* be a positive integer. Then

$$L_{3n}^{(3)} = 7F_{3n}^{(3)} - 9F_{3n-1}^{(3)} + 3F_{3n-2}^{(3)} + F_{3n-6}^{(3)}$$

Proof. Since $F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$ for $n = mk + r(0 \le r < k)$, by the identity $L_n = F_n + F_{n-2}$, we have

$$\begin{split} L_{3n}^{(3)} &= (L_n)^3 \\ &= (F_n + F_{n-2})^3 \\ &= (F_n)^3 + 3(F_n)^2 F_{n-2} + 3F_n(F_{n-2})^2 + (F_{n-2})^3 \\ &= (F_n)^3 + 3(F_n)^2 (F_n - F_{n-1}) + 3F_n(F_n - F_{n-1})^2 + (F_{n-2})^3 \\ &= F_{3n}^{(3)} + 3(F_n)^3 - 3(F_n)^2 F_{n-1} + 3F_n((F_n)^2 - 2F_nF_{n-1} + (F_{n-1})^2) + F_{3n-6}^{(3)} \\ &= F_{3n}^{(3)} + 3(F_n)^3 - 3F_{n-1}(F_n)^2 + 3(F_n)^3 - 6F_{n-1}(F_n)^2 + 3(F_{n-1})^2 F_n + F_{3n-6}^{(3)} \\ &= F_{3n}^{(3)} + 6(F_n)^3 - 9F_{n-1}(F_n)^2 + 3(F_{n-1})^2 F_n + F_{3n-6}^{(3)} \\ &= F_{3n}^{(3)} + 6F_{3n}^{(3)} - 9F_{3n-1}^{(3)} + 3F_{3n-2}^{(3)} + F_{3n-6}^{(3)} \\ &= 7F_{3n}^{(3)} - 9F_{3n-1}^{(3)} + 3F_{3n-2}^{(3)} + F_{3n-6}^{(3)} \end{split}$$

Theorem 3.10. Let *n* be a positive integer. Then

$$F_n(L_n)^2 = 4F_{3n}^{(3)} - 4F_{3n-1}^{(3)} + F_{3n-2}^{(3)}.$$

Proof. Since $F_n^{(k)} = (F_m)^{k-r} (F_{m+1})^r$ for $n = mk + r(0 \le r < k)$, by the identity $L_n = F_n + F_{n-2}$, we obtain

$$F_n(L_n)^2 = F_n(F_n + F_{n-2})^2$$

$$= F_n[(F_n)^2 + 2F_{n-2}F_n + (F_{n-2})^2]$$

$$= (F_n)^3 + 2F_{n-2}(F_n)^2 + (F_{n-2})^2F_n$$

$$= F_{3n}^{(3)} + 2(F_n - F_{n-1})(F_n)^2 + (F_n - F_{n-1})^2F_n$$

$$= F_{3n}^{(3)} + 2(F_n)^3 - 2F_{n-1}(F_n)^2 + (F_n)^3 - 2F_{n-1}(F_n)^2 + (F_{n-1})^2F_n$$

$$= F_{3n}^3 + 3(F_n)^3 - 4F_{n-1}(F_n)^2 + (F_{n-1})^2F_n$$

$$= 4F_{3n}^{(3)} - 4F_{3n-1}^{(3)} + F_{3n-2}^{(3)}.$$

4136

Theorem 3.11. Let *n* be a positive integer. Then

$$L_n(F_n)^2 = 2F_{3n}^{(3)} - F_{3n-1}^{(3)}$$

Proof. By the identity $L_n = F_n + F_{n-2}$. Consider

$$L_n(F_n)^2 = (F_n + F_{n-2})(F_n)^2$$

= $(F_n)^3 + F_{n-2}(F_n)^2$
= $(F_n)^3 + (F_n - F_{n-1})(F_n)^2$
= $2(F_n)^3 - F_{n-1}(F_n)^2$
= $2F_{3n}^{(3)} - F_{3n-1}^{(3)}$

4. CONCLUSION

In this paper, we have been proved some theorems concerning the generalized *k*-Fibonacci numbers and generalized *k*-Lucas numbers, especially in the case k = 3, and given some relationships among generalized 3-Fibonacci numbers, relationships among generalized 3-Lucas numbers, and relationships among the ordinary Fibonacci, ordinary Lucas, generalized 3-Fibonacci and generalized 3-Lucas numbers.

CONFLICT OF INTERESTS

The authors declare that there is no conflict of interests.

REFERENCES

- [1] K. Ari, On h(x)-Lucas quaternion polynomials, Ars Comb. 121 (2015), 291-303.
- [2] C.M. Campbell, P.P. Campbell, The Fibonacci length of certain centro-polyhedral groups, J. Appl. Math. Comput. 19 (2005), 231-240.
- [3] Ö. Deveci, The Polytopic-k-Step Fibonacci sequences in finite groups, Discrete Dyn. Nat. Soc. 2011 (2011), 431840.
- [4] Ö. Deveci, The Pell-padovan sequences and the Jacobsthal-Padovan sequences in finite groups, Util. Math. 98 (2015), 257-270.

- [5] A. Grabowski, P. Wojtecki, Lucas numbers and generalized Fibonacci numbers, Formal. Math. 12 (2004), 329-334.
- [6] A. Ípek, K. Ari, On h(x)-Fibonacci octonion polynomials, Alabama J. Math. 29 (2015), 1-6.
- [7] E. Kilic, D. Tasci, On the generalized order-k Fibonacci and Lucas numbers, Rocky Mt. J. Math. 36 (2006), 1915-1926.
- [8] T. Koshy, Fibonacci and Lucas numbers with applications, A Wiley-Interscience Publication, Wiley, New York, 2001.
- [9] G.Y. Lee, k-Lucas numbers and associated bipartite graph, Linear Algebra Appl. 302 (2000), 51-61.
- [10] E. Özkan, I. Altun, A. Göcer, On relationship among a new family of k-Fibonacci, k-Lucas numbers, Fibonacci and Lucas numbers, Chiang Mai J. Sci. 44(4) (2017), 1744 - 1750.
- [11] E. Özkan, A. Aydogdu, I. Altun, Some identities for a family of Fibonacci and Lucas numbers, J. Math. Stat. Sci. 17(10) (2017), 295- 303.
- [12] P.S. Stanimirovic, J. Nikolov, I. Stanimirovic, A generalization of Fibonacci and Lucas matrices, Discrete Appl. Math. 156 (2008), 2606-2619.
- [13] R.B. Taher, M. Rachidi, On the matrix power and exponential by the *r*-generalized Fibonacci sequences method: the companion matrix case, Linear Algebra Appl. 370 (2003), 341-353.
- [14] D. Tasci, E. Kilic, On the order-k generalized Lucas numbers, Appl. Math. Comput. 155 (2004), 637-641.
- [15] Y. Tasyurdu, N. Cobanoglu, Z. Dilmen, On the a new family of k-Fibonacci Number, J. Sci. Technol. 9(1) (2016), 95-101.
- [16] M. Mikkawy, T. Sogabe, A new family of k-Fibonacci numbers, Appl. Math. Comput. 215 (2010), 4456-4461.